LABJNDuS triangle lightness T*
* =

T* Y=L w nc=100,

T*L aganpus =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=146,T* (18)=332,T*,/(90)=517

1
Troo=517,21, A,=,500, ¢=0,6%
T*16332,22, /7 0. 911, A =0,§058
T3 =146, 1177 3. 2.22 Y= 18. appélgatlon

L . 1Y.=18
T aVn=36  TYy=90

LABJINDu8
tristimulus value difference
Yoc=L*w - nc=100,
T*LaBINDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn A=1,0, see CIE 230:2019

d¥95=0,80, Ay=1,500, ¢=0,67

dY;g=0,17, A 70,011, Agn 0,0052

dY3,6=0,04 Y,=18, dY=0,1 ot

T*,=332 dY,=0,17 dY,/Y, 0(‘J°.: 2

Iog(AY)
AY

log (AY/Y) LABJINDuUS
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A1 Az Y Y
(dY/Yy=0,0088, A=1
(dY/Y}g=0.0096, Ar=0 ,Ag 5,0058
(dY/Y}60,0234 Y, oy dY=0,17

< application

T*,=332 dY,=0,17, dY,/Y,=0,0096
1
1

1Y,=18
Yw=90

Yn=3.6

LABJINDu8
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

(Y/dYy=112,48, Ay=1,500, 6=0,67
(Y/dY)g=103,63, A=0,011, A,=0,0058
(YIdY} =74.37 Y218, d\=0.17

log (Y/AY)
C,=(Y/AY)

Iog(Y/dY):Z 01 m,=0,08.*
2 application
range

1y,=18
R

Yn=3.6

TEIT
T,

LABJINDuS relative triangle lightness T*/T*,,
YocmL*w - nc=100,

T aganpus =[IN[A 1n+A2nY)I/(A20A0n)] (Ynd/100<Y<=Y,c)
T#(3,6)=146,T* ,(18)=332.T*(90)=517
T*oyT*,=1,55, Apy=L,500, 6=0,67
T =001, A=0,0058
T* dT* =0, 43 T, _332 ,22 Y1

log[T*/T*,]=0, m,=0,33
L* =49, T* =332 1
1 application
f range
1y,=18
Yy =90

N=36

LABJNDuS relative
tristimulus value difference
Yoc=L*w - -nc=100,

log(A Y/AY i)
AYIAY,

T*Laganpus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIY,=Ag A1 +AgYI/AY,
dYog/dY,=4,60, Ay=1,500, ¢=0,6
v dv 1100, AT0/011, 20, 058
dYsdY,=0,27 V.18, dY=0.17

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LABINDus =[IN[(A 1n+A2nY)J/(A 2nA0n)] (Yd/100<Y<=Yc)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(dY/Ypo/(dY/Y)=0,92, Ay=1,500, ¢=0,67
(dY/Y)g/(dY/Y)=1,00, A=0,011, A, =0,0058
(dY/Y) d(dY/Y)~1,39 Y718 dY=0,17

log[(dY/YY(dY/Y)J=0, mu——O 09 1
T+,=332 dY,=0,17, d¥,/Y,=0,0096;

1y,=18
=Clp log

application
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDUuS relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganpus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)

(YVIAYY(YIAY), =Y IYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,08, Ay=1,500, ¢=0,67
(Viavie(YId¥}=1.00, A=0,011, 4,=0,0058
(Y/dvgvd(Y/dY =0,71, Y, =18, d\=0.1

T*,=332 dY,=0,17, Yy/d-V‘:-md
application
range
'y,=18
Yy =90

YN=3.6




